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1. A chord of 18 cm subtends an angle of 90° at the centre. Calculate its shortest distance from the centre

(i) 11.0cm (ii) 9.0 cm (iii) 10.0cm (iv) 8.0cm (v) 7.0 cm

2. Express cot42° in terms of sec42°

2
\/sec 42° -1 1 sec42° 1 e R
(I) (II) (III) 2—— (IV) 2—— (V) '\/SGC 42° — 1
sec42° sec42° \/sec 42° -1 \/sec 42° -1

3. Given that5cosec6 = 13, find tan®
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4. If cot6x = tan((x+27)),thenx=

(i) 12 (ii) 10 (iii) 7 (iv) 8 (v) 9

5. Which of the following are true?

a) cos45° =1
b) sin45° =1
c) sin0° =1
d) tan90° =1
e) cos0° =1
f) sin90° =1
g) cos90° =1
h) tan0° =1

(i) {ef} (i) {ae} (i) {g.fe} (iv) {cde} (v) {b,f}



6. Express sin® in terms of cos6

\/1 —cosze 1

(i) (ii) iy /1 — cos’0 (V)

cos6 cos6

cosO

\/1 - c0529

7. In the given figure, if IK—]JK=2 cm,andl] = 6 cm,findsin/
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(i) 2 (ii) : (iii) 4 (iv) 6 (v) 4
5 7 5 5 3

. 17

8. Given secF = ,find tanF
15

(i) -15 (ii) 8 (iii) -17 (iv) -8 (V) -15

8 17 8 15 17

1
9. Given tanD = -35 v35,find sinD
(i) ! (i) 6 (iii) v35 (iv) 1«/35 (v) 6 V35
i ii iii iv V) -
6 6 35

10. Given that4cot6 = 3, find sec©

5
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11. From the given figure,find cot(90 — H)

F
G H
(0) FG (i GH (i) FH (iv) FH W) FG
i i) - i) - iv v) -
FH FH FG GH ' GH
tan48°cot29° _
" cot42°tan6l®

(i) -1 (ii) tan48° (iii)) 0 (iv) 1 (v) tan29°

13. Express cosecO interms of sin®
' 2
\/1 —sin 6 - 1

(ii) \/l—sinze (iii) - (iv)
sin® sin®

—_
~

sin®

\/1 - sin29

(v

1
(v) 5
\/1 —cos ©

1

—
\/1 —sinze
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14. Given secD = 4\/2 ,find cosD
(i) 2\/2 (i) 2v2 (iii) ! (iv) 1\/2 (v) 3
i) - ii i) - iv) - v
3 3 4

15. Express sin® in terms of cotf

: 2
5 \/1 + cot © 1 1 cot®
(i) V1 +cot”e (i (iii) - (iv) V) —
2 2
cot® coté \/1 + cot © \/1 + cot 6

In the given figure, ABCD is a right angle triangle with D = 90° and CD = 15 cm. T is the mid-point of BD. Find

16.
LTCB using tables.

B0®

c 15 cm D
(i) 21° 7" (i) 17° 7" (iii) 19° 7' (iv) 22°7' (v) 16° 7'
17. sinl=

(i) (i) (iii) - (iv) (v)
cosecl cosl tanl secl cotl

4
18. Given cosB = 5 ,find secB

(i) > (ii) > (iii) 1 (iv) > (v) >
i) - i) - iii iv) - V) -
5 3 3 4 4
19. tan60°cosec45° — cos90°cosec30° =

4. .
(iy v3 (i) 6 (i) v6 (iv) v6 (v) v8

20. Express secH interms of tan®

: 2
tan® V1 +tan'0 1 1 5
(i) = (i) (iii) = (V) (v) V1+tan"6
\/1+tan S tan® \/1+tan S tan®



21.

22.

23.

24.

25.

Given that13sin® = 5, find cos6

(i)

12
13

(if)

1 .
Given cos) = > V3 ,find tan]

(i)

2 .
Given tanM = =7 V77 ,find cosM

(i)

2
—V3
3

(if)

V3 (iii)

1
- V3
3

(iv)

(v) 2

(i) 1\/77 (iii) 1\/77 (iv) 9 v77 (v)
2 9 77

Which of the following are true?

a

)
)
)
)
)

sin(180 + 6) =cos6

b) cos(180 + 8) = — cosH

sin(180 + 8) = — sin®

d) tan(180 + 6) =cotB
e) tan(180 + 6) =tan®6

f) cos(180 + 8) =sin®

(i) {f.ae}

(i)

{d,b,c}

(iii)

12
Given cotA = 5 ,find tanA

(i)

13
5

(i)

12

(iii)

{d,c}

(iv)

12

(iv)

(v)

{a,b}

5
13

(v) {b,c.e}
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